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AQA A2 Biology 

3 Energy transfer and recycling
1
(
Bacteria/fungi/microbes/saprobionts feed by extracellular digestion.


(
They release enzymes and absorb the soluble products.


(
Respiration releases carbon dioxide into the atmosphere.


(
Plants absorb carbon dioxide.


(
Carbon dioxide is absorbed via the stomata. 


(
Plants use carbon dioxide in photosynthesis.
[4]
2
(a)
Any one from: proteins, nucleic acids, nucleotides, amino acids, urea, ATP.
[1]

(b)
A = saprobiotic decay, ammonicifation or denitrification



B = nitrification



C = nitrification



D = denitrification



E = nitrogen fixation 
[2]
All correct gains 2 marks. One wrong gains 1 mark.


(c)
Legumes contain nitrogen-fixing bacteria. They put ammonia/nitrogen back into the 
soil. So less fertiliser needed. 
[3]
3
(a)
Spawning is taking place earlier. 
[1]

(b)
The dates would be later. Northern latitudes are colder. 
[2]

(c)
They may be damaged/killed by ice/frost. There may not be enough food for hatching tadpoles. 
[2]

(d)
Day length. 
[1]
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